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1) clc;
M=input('Ingrese M: ');
N=input('Ingrese N: ');
a=ones(M,N);
b=a;
a(1:2:M,1:2:N)=0;
disp('a=');
disp(a);
b(1:2:M,1:4:N)=0;
b(1:2:M,2:4:N)=0;
b(2:2:M,1:3:N)=0;
disp('b=');
disp(b);

2) clc;
p=input('Ingrese el polinomio p:');
q=input('Ingrese el polinomio q:');
p1=polyder(p);
q1=polyder(q);
x=0:0.01:10;
yp=polyval(p1,x);
yq=polyval(q1,x);
plot(x,yp,x,yq);
[m i]=max(yp);
disp('punto máximo:');
disp(x(i));

3) clc;
A=input('Ingrese la matriz A:');
disp(A);
[M N]=size(A);
p1=A(1:M/2,1:N/2);
p2=A(1:M/2,N/2+1:N);
p3=A(M/2+1:M,1:N/2);
p4=A(M/2+1:M,N/2+1:N);
p=p1+p2+p3+p4;  %Aunque no piden mostrar p1,p2,p3 y p4, aquí se muestran.
disp('p1:');
disp(p1);
disp('p2:');
disp(p2);
disp('p3:');
disp(p3);
disp('p4:');
disp(p4)
disp('Resultado:');
disp(p);

4) clc;
p=input('Ingrese el polinomio p:');
px2=[p 0 0];
q=polyder(px2);
p=[0 p];
r=roots(p-q);
disp('q:');
disp(q);
disp('intersecciones:');
disp(r);
